
 

RASA 8 Dovetail Bar - #94290 

Installation Guide 
 

 

Kit includes: 

 

1x  RASA 8 Dovetail Bar 

2x  M5-0.8 x 14mm screws 

2x  M5 washers 

2x  8-32 x 0.5” screws 

2x  #8 washers 

 

 

 

 

 

 

 


